

2011 春 統計

(1) $\epsilon_n = (n + \frac{1}{2})h\nu$

$$Z(\beta) = \sum_{n=0}^{\infty} e^{-\beta(n + \frac{1}{2})h\nu}$$

$$= e^{-\beta h\nu} \sum_{n=0}^{\infty} (e^{-\beta h\nu})^n$$

$$= e^{-\frac{\beta h\nu}{2}} \frac{1}{1 - e^{-\beta h\nu}}$$

$$= \frac{1}{e^{\frac{\beta h\nu}{2}} - e^{-\frac{\beta h\nu}{2}}} = \frac{1}{2 \sinh \frac{\beta h\nu}{2}}$$

(2) $U = -\frac{\partial}{\partial \beta} \log \left(\frac{1}{2 \sinh \frac{\beta h\nu}{2}} \right)^{-1}$

$$= \frac{\partial}{\partial \beta} \log 2 \sinh \frac{\beta h\nu}{2}$$

$$= \frac{1}{2 \sinh \frac{\beta h\nu}{2}} \times 2 \cosh \frac{\beta h\nu}{2} \times \frac{h\nu}{2} = \frac{h\nu}{2} \left(\tanh \frac{\beta h\nu}{2} \right)^{-1}$$

(3) $U_0 = \lim_{\beta \rightarrow \infty} U(\beta) = \frac{h\nu}{2} \lim_{\beta \rightarrow \infty} \frac{1}{\tanh \frac{\beta h\nu}{2}}$

$$= \frac{h\nu}{2} \times 1 = \frac{h\nu}{2}$$

(4) $\Delta U(\beta) = \frac{h\nu}{2} \left[\left(\tanh \frac{\beta h\nu}{2} \right)^{-1} - 1 \right]$

$$= \frac{h\nu}{2} \left(\frac{e^{\frac{\beta h\nu}{2}} + e^{-\frac{\beta h\nu}{2}}}{e^{\frac{\beta h\nu}{2}} - e^{-\frac{\beta h\nu}{2}}} - \frac{e^{\frac{\beta h\nu}{2}} - e^{-\frac{\beta h\nu}{2}}}{e^{\frac{\beta h\nu}{2}} - e^{-\frac{\beta h\nu}{2}}} \right)$$

$$= \frac{h\nu}{2} \frac{2e^{-\frac{\beta h\nu}{2}}}{e^{\frac{\beta h\nu}{2}} - e^{-\frac{\beta h\nu}{2}}}$$

$$= h\nu \frac{1}{e^{\beta h\nu} - 1} = h\nu \cdot f^{(1)}(h\nu)$$

粒子数平均のエネルギー

$h\nu$ であるが $\beta h\nu > 1$

化学 potential である。

粒子流出の密度